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Letter to Editorial Board

Let us correct the mistake in paper [1]. Indeed the quantity ¢ for £. = 0
is equal to
¢ =35,(vE; - T,) = 35,5,(v — 1)

where £, = Xy + X.. Let us replace I, by (X, + 7/v). Then we obtain
. T
¢=13%, (/v -1)- ;) .

After making the calculations which are similar to [1] we have

b(r) = DOVTH (- T/ TNIE
B dnrsh(F\/7 + au\/3E,)

Here P is a constant, A = (R— Rg)v/3X;, F = RV/3¥s, h = exp(2au/3%,),
y=r/o- Ty - 1),

, J(0,7) = P(h- f(4,7) - f(-A,7)).

(exp(Aﬁ) - 1) exp(F./7) o e
u(hexp(QFﬁ)_l) ’ - E+Ef(V.—1)+-y'

f(A,7) =

The derivatives of the functions f and u with respect to T are equal to

1 u w1
veu(p o) w=- (fraA).
2y A T \5 VY

u(3)=f—;(—3—+3—+4uu)

7
, (F+A v fexp(2F./7) Aexp(-F,/7) T ﬁf‘_
f_(Qﬂ u)f"'hexp(zp\/«—,)—l( 2u- f\ /7 h \/7)

The results of computations are presented in Table 1.

Table 1. The results of ™ computations

Ry = R/5 Ro = R/3
JPl o | P
—8.98020 | 0.0141 | —6.27551 | 0.0508

114.788 | 0.0035 89.3796 | 0.0196
—2172.52 | 0.0015 | —1772.54 | 0.0087
54543.0 | 0.0007 45499.0 | 0.0042
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